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ECONOMICS

DSC - 2 : Indian Economy

(NEP)

Time : 2 Hours Maximum Marks : 60

SECTION - A / « s̈ÁUÀ - J

1. Answer the following sub-questions. Each sub-question carries one mark.

PÉ¼ÀV£À G¥À-¥Àæ±ÉßUÀ½UÉ GvÀÛj¹j. ¥ÀæwAiÉÆAzÀPÉÌ MAzÀÄ CAPÀ.

(a) What is Globalization ?

eÁUÀwÃPÀgÀt JAzÀgÉÃ£ÀÄ ?
(b) What is Fiscal Policy ?

gÁdåPÉÆÃ±À ¤Ãw JAzÀgÉÃ£ÀÄ ?
(c) Expand WTO.

WTO £ÀÄß « À̧Ûj¹j.
(d) What is Balance of payments ?

À̧AzÁAiÀÄ¨ÁQ JAzÀgÉÃ£ÀÄ ?
(e) Expand FDI.

FDI £ÀÄß « À̧Ûj¹j.
(f) What is Public debt ?

¸ÁªÀðd¤PÀ ¸Á® JAzÀgÉÃ£ÀÄ ?
(g) Define Foreign Trade.

«zÉÃ² ªÁå¥ÁgÀªÀ£ÀÄß ªÁåSÁå¤¹j.
(h) What is Tax ?

vÉjUÉ JAzÀgÉÃ£ÀÄ ?
(i) What is Money Market ?

ºÀtzÀ ªÀiÁgÀÄPÀmÉÖ JAzÀgÉÃ£ÀÄ ?
(j) Mention any four Major Exports of India.

s̈ÁgÀvÀzÀ AiÀiÁªÀÅzÁzÀgÀÆ 4 ¥ÀæªÀÄÄR gÀ¥sÀÀÄÛUÀ¼À£ÀÄß w½¹j.
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10x1=10

Note : Answer all  sections.

J¯Áè « s̈ÁUÀUÀ¼À£ÀÄß GvÀÛj¹j.
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SECTION - B / « s̈ÁUÀ - ©

Answer any four of the following questions. Each question carries five marks.

PÉ¼ÀV£À AiÀiÁªÀÅzÁzÀgÀÆ £Á®ÄÌ ¥Àæ±ÉßUÀ½UÉ GvÀÛj¹j. ¥ÀæwAiÉÆAzÀÄ ¥Àæ±ÉßUÉ LzÀÄ CAPÀUÀ¼ÀÄ. 4x5=20

2. Explain the causes of increasing population in India.

s̈ÁgÀvÀzÀ°è d£À̧ ÀASÉå ºÉZÀÑ¼ÀPÉÌ PÁgÀtUÀ¼À£ÀÄß «ªÀj¹j.

3. Explain the characteristics of demographic dividend.

d£À̧ ÀASÁå ¯Á s̈ÁA±ÀzÀ ®PÀëtUÀ¼À£ÀÄß «ªÀj¹j.

4. Discuss the effects of Public Spending on Agriculture.

PÀÈ¶ ªÉÄÃ É̄ ¸ÁªÀðd¤PÀ ªÉZÀÑzÀ ¥ÀjuÁªÀÄUÀ¼À£ÀÄß ZÀað¹j.

5. Explain the advantages of GST.

GST AiÀÄ C£ÀÄPÀÆ®UÀ¼À£ÀÄß «ªÀj¹j.

6. Explain problems of Micro, Small and Medium Enterprises.

À̧ÆPÀëöä, ̧ ÀtÚ ªÀÄvÀÄÛ ªÀÄzsÀåªÀÄ GzÀåªÀÄUÀ¼À ̧ ÀªÀÄ Ȩ́åUÀ¼À£ÀÄß «ªÀj¹j.

7. Explain the objectives of Fiscal Policy.

gÁdåPÉÆÃ±À ¤ÃwAiÀÄ zsÉåAiÉÆÃzÉÝÃ±ÀUÀ¼À£ÀÄß «ªÀj¹j.

SECTION - C / « s̈ÁUÀ - ¹

Answer any three of the following questions. Each question carries ten marks.

PÉ¼ÀV£À AiÀiÁªÀÅzÁzÀgÀÆ ªÀÄÆgÀÄ ¥Àæ±ÉßUÀ½UÉ GvÀÛj¹j. ¥ÀæwAiÉÆAzÀÄ ¥Àæ±ÉßUÀÆ ºÀvÀÄÛ CAPÀUÀ¼ÀÄ. 3x10=30

8. Explain the impact of LPG on Indian economy.

s̈ÁgÀvÀzÀ DyðPÀvÉ ªÉÄÃ É̄ LPG AiÀÄ ¥ÀjuÁªÀÄUÀ¼À£ÀÄß «ªÀj¹j.

9. Describe Smart city Mission Objectives and Strategies.

¸Áälð ¹n «ÄµÀ£ï£À GzÉÝÃ±À ºÁUÀÆ PÁAiÀÄð vÀAvÀæUÀ¼À£ÀÄß ªÀtÂð¹j.

10. Explain the causes of Agrarian crisis in India.

s̈ÁgÀvÀzÀ°è PÀÈ¶ ©PÀÌnUÉ PÁgÀtªÁUÀÄªÀ CA±ÀUÀ¼À£ÀÄß «ªÀj¹j.

11. Explain the factors causes for urbanization in India.

s̈ÁgÀvÀzÀ°è £ÀUÀjÃPÀgÀtPÉÌ PÁgÀtªÁUÀÄªÀ CA±ÀUÀ¼À£ÀÄß «ªÀj¹j.

12. Explain the causes of disequilibrium in Balance of payments of India.

s̈ÁgÀvÀzÀ À̧AzÁAiÀÄ ¨ÁQAiÀÄ°è£ÀÀ C À̧ªÀÄvÉÆÃ®£ÀPÉÌ PÁgÀtUÀ¼À£ÀÄß «ªÀj¹j.
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